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OutlineOutline

�� How is international BT different?How is international BT different?
�� 55--country health studycountry health study
�� some observationssome observations



Unique aspects of
Unique aspects of 
international BT
international BT
�� Currency conversionCurrency conversion
�� Differences in measurableDifferences in measurable 

characteristics of populationscharacteristics of populations
�� Differences culture, sharedDifferences culture, shared 

experiences, etc.experiences, etc.



Currency ConversionCurrency Conversion

�	� How should WTP measured in one countryHow should WTP measured in one country 
be converted to another country’s currency?be converted to another country’s currency?
–– Assume identical preferences between countriesAssume identical preferences between countries

�� V(I, p, QV(I, p, Q00) = V(I) = V(I--CV, p, QCV, p, Q11))

–– Indirect utility function homogenous degree 0 inIndirect utility function homogenous degree 0 in 
prices and income
prices and income
�� V(V(ββ**I,I, ββ**p, Qp, Q00) = V() = V(ββ**II--ββ**CV,CV, ββ**p, Qp, Q11)
)

–– Use exchange rate that measures differences inUse exchange rate that measures differences in 
prices (PPP)prices (PPP) –– not financial exchange ratenot financial exchange rate



Currency Conversion
Currency Conversion

5-Country Study 

FinancialFinancial PPPPPP--AdjustedAdjusted 
ExchangeExchange 

RateRate
Exchange RateExchange Rate

NationalNational CityCity

EnglandEngland 1.001.00 . 1.001.00 . 1.001.00 . 

OsloOslo 12.4712.47 . 14.2114.21 . 15.1315.13 . 

AmsterdamAmsterdam 3.363.36 . 3.163.16 . 3.183.18 . 

LisbonLisbon 305.81305.81 . 189.81189.81 . 276.08276.08 . 

Vigo, SpainVigo, Spain 252.98252.98 . 191.36191.36 . N/AN/A



Currency ConversionCurrency Conversion

�� MoreMore--difficult issuedifficult issue -- differences in indifferences in in--
kind incomekind income

�� Free health care, college tuition, retirementFree health care, college tuition, retirement 
income increases residents’ real incomesincome increases residents’ real incomes

�� Don’t need to save as muchDon’t need to save as much –– can pay morecan pay more 
for environmental goodsfor environmental goods

�� How to measure?How to measure?



MeasurableMeasurable 
CharacteristicsCharacteristics
�� Average income, age, educationAverage income, age, education 

differs among countriesdiffers among countries
�� Two standard approaches:Two standard approaches:

–– Value transfer with income adjustmentValue transfer with income adjustment
–– Value function transferValue function transfer



Income Adjustment ofIncome Adjustment of 
WTPWTP

WTP US 
Portugal 

LDC 

Income 




Income AdjustmentIncome Adjustment ––
Ratio ApproachRatio Approach
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Income AdjustmentIncome Adjustment ––
Value Function ApproachValue Function Approach

WTP US 
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LDC 

Income 




Income AdjustmentIncome Adjustment ––
CEI approachCEI approach

WTP US 
Portugal 

LDC 

Income 




Differences in
Differences in 
Culture, etc.
Culture, etc.
�� Are you measuring differences in
Are you measuring differences in 

preferences, or something else
preferences, or something else
–– Different perceptions of the good
Different perceptions of the good
–– Different contextsDifferent contexts



55--Country StudyCountry Study

�� CV study of WTP to avoid illCV study of WTP to avoid ill--healthhealth 
episodesepisodes
–– symptom day, 3 bed days, ER visit,symptom day, 3 bed days, ER visit, 

hospital admissionhospital admission
–– modified payment card formatmodified payment card format
–– inin--person interviewsperson interviews
–– “magic wand” policy mechanism“magic wand” policy mechanism



Mean WTP in Each Country 
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Predicted WTP for a "Standard" Respondent 
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Transfer TestsTransfer Tests

�� Common Value FunctionCommon Value Function –– consistently
consistently 
rejected at high levels of significance
rejected at high levels of significance

�� Common WTP valuesCommon WTP values ––
–– Spain/Portugal significantly higher WTPSpain/Portugal significantly higher WTP 

than England/Norway/Netherlandsthan England/Norway/Netherlands



Transfer ErrorTransfer Error

�� Pick one country as policy sitePick one country as policy site –– allall 
other countries as study siteother countries as study site

�� TE = |WTPTE = |WTPTT--WTPWTPPSPS||
WTPWTPPS
PS



Transfer ErrorTransfer Error

�� Average TEAverage TE
–– Naïve Value Transfer:Naïve Value Transfer: 38%38%
–– Value Transfer with Income
Value Transfer with Income 
Adjustment (ratio method):Adjustment (ratio method): 37%
37%

–– Value Function Transfer:Value Function Transfer: 38%38%

�� Worst transfer error = +230%Worst transfer error = +230% 
�� ¾ of transfers had TE less than 50%¾ of transfers had TE less than 50%
�� Excluding “eyes” episode drops averageExcluding “eyes” episode drops average 

transfer error to 27%transfer error to 27%



ObservationsObservations

�	� Value Function Transfer does notValue Function Transfer does not 
necessarily perform better than simplernecessarily perform better than simpler 
approachesapproaches

�	� With enough data, transfer tests will alwaysWith enough data, transfer tests will always 
be rejectedbe rejected

�	� TE is calculated under assumption thatTE is calculated under assumption that 
WTPWTPPSPS knownknown
–– Suppose you conducted same test using two
Suppose you conducted same test using two 

different samples from the same population
different samples from the same population
–– Average TE = 16%Average TE = 16% 



ObservationsObservations

�� How much error is too much?How much error is too much?
�� What probability of a large error is tooWhat probability of a large error is too 

high?high?
�� Bayesian approachesBayesian approaches –– not a questionnot a question 

of either/orof either/or
�� Need more interNeed more inter--country studiescountry studies



Thank you
Thank you


